#E:HSSE FREUUE:TICN

Tap material Surface treatment

LT-SL-TF AL 12
EE% m& 5 102
. . 1C 110 % 8

——— “wa 10 - =
— - B | au a4

51

T
Eiﬁﬁ?m];” %%
=S
HO  EvF 2k BRUMEE| B | BE | IR | &2k | & HFO  EvF 2k RUEE| BY | BE | IR | 2R | @& lj' =
M3 x0.5 x 70 1C5 1C 5 10 70 4 M5 x0.8 x120 1C6 1C 6 10 120 5.5 ‘9‘/9'
M3 x05 x 70 1C6 1C 6 10 70 4 M5 x0.8 x120 1C7 1C 7 10 120 5.5 7%
M3 x05 x 70 1C7 1C 7 10 70 4 M5 x0.8 x120 1C8 1C 8 10 120 5.5 ~W
M3 x0.5 x 70 B5 B 5 10 70 4 M5 x0.8 x120 B6 B 6 10 120 5.5 4 3
M3 x0.5 x 70 B6 B 6 10 70 4 M5 x0.8 x120 B7 B 7 10 120 5.5 E -,>i|
M3 x0.5 x 70 B7 B Z 10 70 4 M5 x0.8 x120 B8 B 8 10 120 55 Y E
M3 x0.5 x100 1C5 1C 5 10 100 4 M5 x0.8 x150 1C6 1C 6 10 150 556 t -
M3 x0.5 x100 1C6 1C 6 10 100 4 M5 x0.8 x150 1C7 1C 7 10 150 5.5
M3 x0.5 x100 1C7 1C 7 10 100 4 M5 x0.8 x150 1C8 1C 8 10 150 5.5 gg
M3 x0.5 X100 BS5 B 5 10 100 4 M5 x0.8 x150 B6 B 6 10 150 5.5 Fi 78<
M3 x0.5 X100 B6 B 6 10 100 4 M5 x0.8 x150 B7 B 7 10 150 5.5 -
M3 x0.5 x100 B7 B 7 10 100 4 M5 x0.8 x150 B8 B 8 10 150 5.5 E =y
M3 x0.5 x120 1C5 1C 5 10 120 4 M6 X1 X100 1C7 1C 7 10 100 6 E%
M3 x0.5 x120 1C6 1C 6 10 120 4 M6 X1 X100 1C8 1C 8 10 100 6 §§
M3 x0.5 x120 1C7 1C 7 10 120 4 M6 X1 X100 1C9 1C 9 10 100 6 ﬁﬁ
M3 x0.5 x120 BS5 B 5 10 120 4 M6 X1 X100 B7 B 7 10 100 6 %
M3 x0.5 x120 B6 B 6 10 120 4 M6 X1 X100 B8 B 8 10 100 6 =
M3 x0.5 x120 B7 B 7 10 120 4 M6 X1 X100 B9 B 9 10 100 6 g
M3.5x0.6 x 70 1C5 1C 5 10 70 4 M6 X1 X120 1C7 1C 7 10 120 6 S
M3.5x0.6 x 70 1C6 1C 6 10 70 4 M6 X1 X120 1C8 1C 8 10 120 6
M3.5x0.6 x 70 1C7 1C 7 10 70 4 M6 X1 X120 1C9 1C 9 10 120 6 %g
M3.5x0.6 x 70 B5 B 5 10 70 4 M6 X1 X120 B7 B 7 10 120 6 3 J
M3.5x0.6 x 70 B6 B 6 10 70 4 M6 X1 X120 B8 B 8 10 120 6 § ?
M3.5x0.6 x 70 B7 B 7 10 70 4 M6 X1 X120 B9 B 9 10 120 6 )—>| P4
M3.5x0.6 x100 1C5 1C 5 10 100 4 M6 X1 X150 1C7 1C 7 10 150 6 ul I
M3.5x0.6 X100 1C6 1C 6 10 100 4 M6 X1 X150 1C8 1C 8 10 150 6 ﬂ-L\
M3.5x0.6 x100 1C7 1C 7 10 100 4 M6 X1 X150 1C9 1C 9 10 150 6 o l/
M3.5x0.6 X100 BS5 B 5 10 100 4 M6 X1 X150 B7 B 7 10 150 6 @ A
M3.5x0.6 X100 B6 B 6 10 100 4 M6 X1 X150 B8 B 8 10 150 6 [0) 9
M3.5x0.6 X100 B7 B 7 10 100 4 M6 X1 X150 B9 B 9 10 150 6 %:)— 7
M3.5x0.6 x120 1C5 1C 5 10 120 4 M6 x0.75X100 1C6 1C 6 10 100 6 ~ |/
M3.5x0.6 x120 1C6 1C 6 10 120 4 M6 x0.75x100 1C7 1C 7 10 100 6 b4
M3.5x0.6 x120 1C7 1C 7 10 120 4 M6 x0.75x100 1C8 1C 8 10 100 6 I\
M3.5x0.6 x120 BS5 B 5 10 120 4 M6 x0.75x100 B6 B 6 10 100 6
M3.5x0.6 X120 B6 B 6 10 120 4 M6 x0.75x100 B7 B 7 10 100 6
M3.5x0.6 x120 B7 B 7 10 120 4 M6 x0.75x100 B8 B 8 10 100 6
M4 x0.7 x 70 1C6 1C 6 10 70 5 M6 x0.75x120 1C6 1C 6 10 120 6
M4 x0.7 x 70 1C7 1C 7 10 70 5 M6 x0.75x120 1C7 1C 7 10 120 6
M4 x0.7 x 70 1C8 1C 8 10 70 5 M6 x0.75x120 1C8 1C 8 10 120 6
M4 x0.7 x 70 B6 B 6 10 70 5 M6 x0.75x120 B6 B 6 10 120 6
M4 x0.7 x 70 B7 B 7 10 70 5 M6 x0.75x120 B7 B 7 10 120 6
M4 x0.7 x 70 B8 B 8 10 70 5 M6 x0.75x120 B8 B 8 10 120 6
M4 x0.7 X100 1C6 1C 6 10 100 5 M6 x0.75x150 1C6 1C 6 10 150 6
M4 x0.7 X100 1C7 1C 7 10 100 5 M6 x0.75x150 1C7 1C 7 10 150 6
M4 x0.7 x100 1C8 1C 8 10 100 5 M6 x0.75x150 1C8 1C 8 10 150 6
M4 x0.7 X100 B6 B 6 10 100 5 M6 x0.75x150 B6 B 6 10 150 6
M4 x0.7 x100 B7 B 7 10 100 5 M6 x0.75x150 B7 B 7 10 150 6
M4 x0.7 X100 B8 B 8 10 100 5 M6 x0.75x150 B8 B 8 10 150 6
M4 x0.7 x120 1C6 1C 6 10 120 5 M7 x1 X100 1C7 1C 7 10 100 6.2
M4 x0.7 x120 1C7 1C 7 10 120 5 M7 x1 X100 1C8 1C 8 10 100 6.2
M4 x0.7 x120 1C8 1C 8 10 120 5 M7 x1 X100 1C9 1C 9 10 100 6.2
M4 x0.7 x120 B6 B 6 10 120 5 M7 x1 X100 B7 B 7 10 100 6.2
M4 x0.7 x120 B7 B 7 10 120 5 M7 X1 X100 B8 B 8 10 100 Bi2
M4 x0.7 x120 B8 B 8 10 120 5 M7 x1 X100 B9 B 9 10 100 6.2
M5 x0.8 X100 1C6 1C 6 10 100 5.5 M7 x1 X120 1C7 1C 7 10 120 6.2
M5 x0.8 x100 1C7 1C 7 10 100 55 M7 x1 X120 1C8 1C 8 10 120 6.2
M5 x0.8 x100 1C8 1C 8 10 100 5.5 M7 x1 X120 1C9 1C 9 10 120 6.2
M5 x0.8 X100 B6 B 6 10 100 5.5 M7 x1 x120 B7 B 7 10 120 6.2
M5 x0.8 x100 B7 B 7 10 100 5.5 M7 X1 X120 B8 B 8 10 120 B2
M5 x0.8 X100 B8 B 8 10 100 5.5 M7 X1 X120 B9 B 9 10 120 6.2




OY59=LUAITUYN seamiess TAFLET, Long Shank OY5Y=LUAITVYM seamless TAFLET, Long Shank
#ME:HSSE FmE ME:HSSE ZFEYUIE:TICN

Tap material Surface treatment Tap material Surface treatment

LT-SL-TF LT-SL-TF

5TUy FOREESOBEIE
LT'SL'TF BRIl 127
14r
— =5 ERRET, E BU  EvF SE BAME| BN | BE | UE | 2E | MR | | BU tuF 2R BURE| BN | BE | DR | 28 | @E
z; M10 x1 x120 1C7 1C 7 19 120 7 M14 x2 x150 1C11 1C 11 26 150 | 1056
_ng 25 M10 x1 x120 1C8 1C 8 19 120 7 M14 x2 x150 B9 B 9 26 150 10.5 @'ﬂ
18- M10 x1 x120 1C9 1C 9 19 120 7 M14 x2 x160 B11 B 11 26 150 105
éJ: e MI1Ox1 x120 B7 B 7 [ 19 [120 | 7 M14x15 x150 1C8 | 1C | 8 | 19 | 150 | 105 J:%
STF - ‘ ‘ - BN ‘ ‘ ) M10 x1 _ x120 B8 B 8 19 | 120 | 7 M14 x1.5 x150 1C10| 1C | 10 | 19 | 150 | 105 TS
%g WU EyF SE BAME| 86 | BE | IR | 2F | ME | | BU tuF 2R BAUME| BN | BE | ¥R | 28 | WE L e e L B o g%
— W M7 x1 X150 1C7 1C 7 10 150 6.2 M9 x1.25x100 1C7 1C 7 18 100 7 M10 X1 X150 1C7 1C 7 18 150 7 M14 x1.5 x150 B10 B 10 19 150 | 1056 \y_|
%7 M7 X1 X150 1C8 1C 8 10 150 6.2 M9 x1.25x100 1C8 1C 8 18 100 7 M10 x1 X150 1C8 1C 8 18 150 7 M16 x2 X150 1C9 1C 9 26 150 12.5 7%
wn ~ M7 X1 x160 1C9 1C 9 10 150 6.2 M9 x1.26x100 1C9 1C 9 18 100 7 M10 x1 x160 1C9 1C 9 18 150 7 M16 x2 x160 1C11 1C 11 26 150 125 ~ 0
3 g M7 X1 X150 B7 B 7 10 150 6.2 M9 x1.25%x100 B7 B 7 18 100 7 M10 x1 X150 B7 B 7 18 150 7 M16 x2 x150 B9 B 9 26 150 | 125 g 3
% 7] M7 X1 X150 B8 B 8 10 150 6.2 M9 x1.25%X100 B8 B 8 18 100 7 M10 X1 X150 B8 B 8 18 150 7 M16 x2 X150 B11 B 11 26 150 12.5 7] %
E i‘{ M7 X1 X150 B9 B 9 10 150 6.2 M9 x1.25x100 B9 B 9 18 100 7 M10 %1 X150 B9 B 9 18 150 7 M16 x2 x200 1C9 1C 9 26 200 | 125 i‘{E
(SN M8 x1.25x100 1C7 1C 7 18 100 6.2 M9 x1.25x120 1C7 1C 7 18 120 7 M11 x1.56 X150 B10 B 10 19 150 8 M16 x2 X200 1C11 1C 11 26 200 12.5 LI
M8 x1.25x100 1C8 1C 8 18 100 6.2 M9 x1.25x120 1C8 1C 8 18 120 7 M11 x1 x150 B9 B 9 18 150 8 M16 x2 x200 B9 B 9 26 200 12.5
&)% M8 x1.26x100 1C9 1C 9 18 100 6.2 M9 x1.26x120 1C9 1C 9 18 120 7 M12 x1.75x150 1C8 1C 8 23 150 8.5 M16 x2 x200 B11 B 11 26 200 125 gt_ﬂ)
8Fﬁ M8 x1.25%x100 B7 B 7 18 100 6.2 M9 x1.25x120 B7 B 7 18 120 7 M12 x1.75x150 1C10 1C 10 23 150 8.5 M16 x1.5 x150 1C8 1C 8 19 150 | 125 Fﬂ§
E M8 x1.256x100 B8 B 8 18 100 6.2 M9 x1.25x120 B8 B 8 18 120 7 M12 x1.75x150 1C12 1C 12 23 150 8.5 M16 x1.5 x150 1C10 1C 10 19 150 12.5 =
EE M8 x1.25x100 B9 B 9 18 100 6.2 M9 x1.25%x120 B9 B 9 18 120 7 M12 x1.75%x150 B8 B 8 23 150 8.5 M16 x1.5 x150 B8 B 8 19 150 | 125 EE
%E M8 x1.25x120 1C7 1C 7 18 120 6.2 M9 x1.25x150 1C7 1C 7 18 150 7 M12 x1.75x150 B10 B 10 23 150 8.5 M16 x1.56 x150 B10 B 10 19 150 12.5 T:E%
EE M8 x1.25x120 1C8 1C 8 18 120 6.2 M9 x1.25x150 1C8 1C 8 18 150 7 M12 x1.75x150 B12 B 12 23 150 8.5 M16 x1.5 x200 1C8 1C 8 19 200 12.5 EB
%ﬁ M8 x1.25x120 1C9 1C 9 18 120 6.2 M9 x1.25x150 1C9 1C 9 18 150 7 M12 x1.56 X150 1C8 1C 8 19 150 8.5 M16 x1.56 x200 1C10 1C 10 19 200 | 125 ﬁg
% M8 x1.25x120 B7 B 7 18 120 6.2 M9 x1.25%x150 B7 B 7 18 150 7 M12 x1.5 x150 1C10 1C 10 119 150 8.6 M16 x1.5 x200 B8 B 8 119 200 | 125 %
3 M8 x1.25x120 B8 B 8 18 120 6.2 M9 x1.25x150 B8 B 8 18 150 7 M12 x1.5 x150 1C12 1C 12 19 150 8.5 M16 x1.5 x200 B10 B 10 19 200 125 5
c_CI:: M8 x1.25x120 B9 B 9 18 120 6.2 M9 x1.25x150 B9 B 9 18 150 7 M12 x1.5 x150 B8 B 8 19 150 8.5 M18 x2.5 x200 1C10 1C 10 33 200 | 14 %
S M8 x1.25x150 1C7 1C 7 18 150 6.2 M10 x1.5 x100 1C7 1C 7 19 100 7 M12 x1.56 x150 B10 B 10 19 150 8.5 M18 x2.5 x200 1C12 1C 12 33 200 14 £
M8 x1.25x150 1C8 1C 8 18 150 6.2 M10 x1.5 x100 1C8 1C 8 19 100 7 M12 x1.56 x160 B12 B 12 19 150 8.5 M18 x2.5 x200 B10 B 10 33 200 14
gg M8 x1.25x150 1C9 1C 9 18 150 6.2 M10 x1.5 x100 1C9 1C 9 19 100 7 M12 x1.26x1650 1C8 1C 8 19 150 8.5 M18 x2.5 x200 B12 B 12 33 200 | 14 %P
J.‘i M8 x1.25%x150 B7 B 7 18 150 6.2 M10 x1.5 x100 B7 B 7 119 100 7 M12 x1.25x150 1C10 1C 10 119 150 8.5 M18 x1.56 x200 1C9 1C 9 119 200 | 14 iJ“
?g M8 x1.256x150 B8 B 8 18 150 6.2 M10 x1.5 x100 B8 B 8 19 100 7 M12 x1.256x150 1C12 1C 12 19 150 8.5 M18 x1.5 x200 1C11 1C 11 19 200 14 §?
P M8 x1.25x150 B9 B 9 18 150 6.2 M10 x1.5 x100 B9 B 9 19 100 7 M12 x1.25%x150 B8 B 8 19 150 8.5 M18 x1.5 x200 B9 B 9 19 200 | 14 4/
I 5 M8 x1 X100 1C7 1C 7 18 100 6.2 M10 x1.5 x120 1C7 1C 7 19 120 7 M12 x1.25x150 B10 B 10 19 150 8.5 M18 x1.5 x200 B11 B 11 33 200 14 5 I
Aﬂ M8 X1 x100 1C8 1C 8 18 100 6.2 M10 x1.5 x120 1C8 1C 8 19 120 7 M12 x1.25x150 B12 B 12 19 150 8.5 M20 x2.5 x200 1C10 1C 10 33 200 15 E-L\
I/;o_ M8 x1 X100 1C9 1C 9 18 100 6.2 M10 x1.56 x120 1C9 1C 9 19 120 7 M12 x1 X150 1C7 1C 7 18 150 8.5 M20 x2.5 x200 1C12 1C 12 33 200 | 15 gl/
ZU?] M8 X1 X100 B7 B 7 18 100 6.2 M10 x1.5 x120 B7 B 7 19 120 7 M12 x1 X150 1C9 1C 9 18 150 8.5 M20 x2.5 x200 B10 B 10 33 200 15 O-:Q’Z
9(]) M8 X1 x100 B8 B 8 18 100 6.2 M10 x1.5 x120 B8 B 8 19 120 7 Mi12 x1 x150 1C11 1C 11 18 150 8.5 M20 x2.5 x200 B12 B 12 19 200 15 u)g
7033-‘- M8 x1 X100 B9 B 9 18 100 6.2 M10 x1.56 x120 B9 B 9 19 120 7 M12 x1 X150 B7 B 7 18 150 8.5 M20 x1.5 x200 1C9 1C 9 19 200 | 15 §7
I/7T M8 x1 X120 1C7 1C 7 18 120 6.2 M10 x1.5 x150 1C7 1C 7 19 150 7 Mi12 %1 X150 B9 B 9 18 150 8.5 M20 x1.5 x200 1C11 1C 11 19 200 15 KI/
b4 M8 X1 x120 1C8 1C 8 18 120 6.2 M10 x1.5 x150 1C8 1C 8 19 150 7 M12 x1 x150 B11 B 11 18 150 8.5 M20 x1.5 x200 B9 B 9 19 200 15 b4
l\ M8 X1 X120 1C9 1C 9 18 120 6.2 M10 x1.56 x150 1C9 1C 9 19 150 7 M14 x2 X150 1C9 1C 9 26 150 10.5 M20 x1.5 x200 B11 B 11 19 200 15 I\
M8 x1 X120 B7 B 7 18 120 6.2 M10 x1.5 x150 B7 B 7 19 150 7
M8 X1 x120 B8 B 8 18 120 6.2 M10 x1.5 x150 B8 B 8 19 150 7
M8 x1 X120 B9 B 9 18 120 6.2 M10 x1.5 x150 B9 B 9 19 150 7
M8 x1 X150 1C7 1C 7 18 150 6.2 M10 x1.256%x100 1C7 1C 7 19 100 7
M8 X1 x150 1C8 1C 8 18 150 6.2 M10 x1.25x100 1C8 1C 8 19 100 7
M8 x1 X150 1C9 1C 9 18 150 6.2 M10 x1.256x100 1C9 1C 9 19 100 7
M8 X1 X150 B7 B 7 18 150 6.2 M10 x1.25%X100 B7 B 7 19 100 7
M8 X1 x150 B8 B 8 18 150 6.2 M10 x1.256x100 B8 B 8 19 100 7
M8 x1 X150 B9 B 9 18 150 6.2 M10 x1.25%x100 B9 B 9 19 100 7
M8 x0.75x100 1C7 1C 7 10 100 6.2 M10 x1.26x120 1C7 1C 7 19 120 7
M8 x0.75x100 1C8 1C 8 10 100 6.2 M10 x1.256x120 1C8 1C 8 19 120 7
M8 x0.75x100 1C9 1C 9 10 100 6.2 M10 x1.256x120 1C9 1C 9 19 120 7
M8 x0.75x100 B7 B 7 10 100 6.2 M10 x1.25%x120 B7 B 7 19 120 7
M8 x0.75x100 B8 B 8 10 100 6.2 M10 x1.256x120 B8 B 8 19 120 7
M8 x0.75x100 B9 B 9 10 100 6.2 M10 x1.25%x120 B9 B 9 19 120 7
M8 x0.75x120 1C7 1C 7 10 120 6.2 M10 x1.25x150 1C7 1C 7 19 150 7
M8 x0.75x120 1C8 1C 8 10 120 6.2 M10 x1.256x150 1C8 1C 8 19 150 7
M8 x0.75x120 1C9 1C 9 10 120 6.2 M10 x1.26x150 1C9 1C 9 19 150 7
M8 x0.75x120 B7 B 7 10 120 6.2 M10 x1.25%x150 B7 B 7 19 150 7
M8 x0.75x120 B8 B 8 10 120 6.2 M10 x1.256x150 B8 B 8 19 150 7
M8 x0.75x120 B9 B 9 10 120 6.2 M10 x1.25%x150 B9 B 9 19 150 7
M8 x0.75x150 1C7 1C 7 10 150 6.2 M10 X1 x100 1C7 1C 7 18 100 7
M8 x0.75x150 1C8 1C 8 10 150 6.2 M10 x1 X100 1C8 1C 8 18 100 7
M8 x0.75x150 1C9 1C 9 10 150 6.2 M10 x1 X100 1C9 1C 9 18 100 7
M8 x0.75x150 B7 B 7 10 150 6.2 M10 x1 X100 B7 B 7 18 100 7
M8 x0.75x150 B8 B 8 10 150 6.2 M10 x1 X100 B8 B 8 18 100 7
M8 x0.75x150 B9 B 9 10 150 6.2 M10 x1 X100 B9 B 9 18 100 7




